TRIGONOMETRIC IDENTITIES

IDENTITY
Is an equality that is

true for every value of

the variable.
Symbol: “ = ” v
It reads: “identical to”.

FUNDAMENTAL TRIGONOMETRIC IDENTITIES

sm(u) csc(u) = 1

cos(u) sec(u) =1

tan(u) cot(u) =1
« RATIO TRIGONOMETRIC IDENTITIES
sin(u) cos(u)
cos(u) sin(u)
« SQUARED TRIGONOMETRIC IDENTITIES

sin?(u) + cos*(u) = 1

1+ tan?(u) = sec?(u)

1 + cot?(u) = csc*(u)

tan(u) = cot(u) =

- o cos(0) 3
[csc(0) = sin(6) (1 i <5in(0)> )
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EXAMPLE: Verify the following identity:

3) Simplify:
@ sin’(u) + cos*(u) = 1)

csc(0) = sin(0) (

sin(0)
sinZ(0)

csc(0) = sin(0) (1 + cotz(a))
SOLUTION: 1) Select a side:
csc(0) = sin(0) (1 - cotz(()))

sin2(0)

2) Transform to sines and cosines:

csc(0) =

cos(u)|

® cot(n) =

sin(u)|

csc(0) = 5in(0)

® [sin(u) csc(u) = 1|

1
= csc(u) = e

2(0
csc(0) = sin(0) ( Zl:;z EG;>

sin? 0)+ coc (9))

csc(0) = Sln(O)( Sin?

csc(0) = csc(0)
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